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N = 0 & S Y A A
JOEE X2 2 5 ULt HEO ~ oIZ O
S oz
Bm: =0l OHE MHIA HIR(HED)

ol BENOl HEM 29 CERL
SN (E) - MEAY - HAS 0fl Ak ot SIEL HD= 2
HEH 619,099 601,329 17,770
=0l Ot= HHIA HZ2(HEM) 154,966 132,566 22,400

S2H0 AEH 29 154,966 132,566 22,400
HE2Y U 2AZ|(HEAH) 34,891 35,791 A 900

201 LEt2AH| 18,794 18,894 A 100
02 2223 H| 15,384 15,484 A 100
(@)=4=K= 1,110 1,210 A 100
-S43 2 & 540,000 540 640 A 100
202 (4 H] 5,200 6,000 A 800
01 =W oib] 5,200 6,000 A 800

=. SN2 MY L gEYe =8
A4 5,200,000 5,200 6,000 A800
22A4E Y HHSA22(HEH) 49,325 26,025 23,300
201 LBt AH| 39,806 24,506 15,300
02 22344 39,806 24,506 15,300

OJz2sE & nssE MIIR2

323 26,670,000 26,670 10,920 15,750
OdatA=)| KX 24 1,150,000 1,150 1,300 A 150
(@Fak—2=9\1:] 23 1,200,000 1,200 1,500 A 300
401 AlEHILE0HY] 8,000 0 8,000
01 Al&H]| 8,000 0 8,000
O&AN H3X B4 8,000 0 8,000
ZOIEHOIZ Al XL (HEH) 304,370 310,000 A5,630
TEUE KNYWE(HEA) 304,370 310,000 A5,630
ARSD FO=AA(HEH) 304,370 310,000 25,630
401 AlEHILE0HY] 304,370 310,000 N5,630
01 Al&H] 304,370 310,000 A5,630
OAAS &2 A H|(200m) ZHZA 18,580,000 18,580 20,000 A 1,420
OE2 2flfHZA(14!) 23 18,600,000 18,600 20,000 A 1,400
Os=2 242 34| (200m) A3A 18,510,000& 18,510 20,000 A 1,490
O2X =2 ZZH(100m) A& 18,680,000& 18,680 20,000 A 1,320
HAHSAAY|(HEH) 159,763 158,763 1,000
J2HH|(HZEH) 53,332 52,332 1,000
J2ZH[(HEH) 53,332 52,332 1,000
405 XHAHSR S HI 1,000 0 1,000
01 XA Z2EF SH| 1,000 0 1,000
O HZE AIR2E D] 1,000 0 1,000
—ZH AL 600,000 = 14 600 0 600
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